I'c-15-1

Ne Ne
eapu- PyHKYUs eapu- PyHKYUs
aHma aHma
| ()= 2x+2, xel[-1,0); " ()= [-2, 0):
' =10 0 a0, ' fx 1, xe[O 2.
5 £0) -3-2x, xe[-2,0); s 3+2x, xe[-2,0);
x =
' -3+2x, x€[0,2]. ' 3-2x, xe]0,2].
| X% xe[-2,0); x+3, xe[-2, 0);
> f(x)_{o, xe 0, 2]. 16. J= { < 0. 2.
. x)= . =
9—x* xel0,3]. 3-2x, xe]0,?2].
s ) x+1, xe[-2,0); 18 £0) 5-3x, xe[-1,0);
X)= XxX)=
) x—1, xe]0,2]. ) -5-3x, xe]0,1].
§ £ {x, e[-1, 0); . 09 2, xe[-3, -1);
. X)= . X)=
sinx, xe]O0, 1]. x =2x-1, xe[-1, 3].
. Fl= 4, x€[=2, 0); 0 F)= 4, xe[-3,0);
' YT 4-2 xeqo. 2], ' S T
Flx)= 1-x*, xe[-1, 0);
8. = 0, xe[o, 11. 21. f(x)=1-x, xe[-1, 1].
3+x, xe[-3,-1) 0, xe[-2,D);
9. fx)=+2, xe[-1 1) 22. f(x)=<1-x2, xe[-1 1)
3—x, xell,3]. 0, xell, 2].
10 Fla)= 2x+3, xe[-2,0); ’3 Fx)= 3+2x, xe[-1,0);
' VT 023 xelo, 21, ' V35008 xelo.11.
0 )= x+1, xe[-1,0); o o= 2-3x, xel[-1,0);
' Y0, xefo.1l. ' VT 2023x xelo. 11,
2 7 1)
12 fay={ b Y20 25 (x) = (on) | XELT’ 1)-1)’
' Y7 522, xelo. 2], A S
(x—=D?% xell, 2].
;3 £ L, xe[-L0) o £ {—2, xe[-2, 0);
. X)= . X)=
X2, xel0,1]. 3, xel0,2].
. o) = 2, e [-2, 0);
) Y= 3—cosx, xe]O0,2].




I'C-15-2

Ne Ne
eapu- dyHKYus eapu- ®dyHKYus
aHma aHma
31 —x-2, xe[-2,2 44 fog={ X7h xelL O
' f)=x=-2, xel22] ' VT 3x41 xelo.1].
- (x)= 0, xe[-2, 0); 45 (x)= x+3, xe[-2,0);
' F= 3+2x, xel0,2]. ' J= X%, xel0,2].
33 £0) —1-x, xe[-1,0); 16 ) -3-2x, xe[-2,0);
X)= =
' I—x, xe[0,1]. ' YT Zox xelo.2].
" 0 1+2x, xe[-1,0); " . . xe[-3,1):
X)= XxX)=
' 1-2x, xe[o,1]. ' 2-3x, xell,3].
35 Sy 11 48 fay=d b xEl2 05
) fo=1=x7, xel=1.1]. ' ] cosx, xe[0,2].
36 fa= b S 49 —1-2x 1.1
. X)= 5 xe[0. 3], . f(x)=1-2x", xe[-1,1].
37 Fx) = x+1, xel[-1, 0); S0 Flx) = -x, xe[-1,0);
' Y7 21 xeqonl. ' YV ok xelo.1].
L xe[=1,0); K2, xel-1, 0);
38. f(x)_{l—Zx, xe[0,1]. 51. f(X):{O, e
2+x, xe[-3,-1);
2+x, xel[-2,0);
39. f(x) ={ 52. f(x)=<1, xe[-1,1);
2—x, xel0,2].
2—x, xe[l3].
40 £ = 5-3x, xe€[-2,0); 53 £ = x+2, xe[-3,0);
' Y7 543x xel0, 21, ' YT x22, xel0.3].
2 .
(x—1)2, xe[=2,—1); . el
41. f(x): 1’ Xe [_1’ 1), 54. f(X): )
2 3—x°, xe]ll, 2].
(x+1) xell, 2].
o )= 0, xe[-4,0); . - 2x+1, xe[-1,0);
' VT xL xelo, 4]. ' Y 23 xeqo1).
0, xe[-3, 0); )
43. f(X)={ ] 56. f(x)=2sinx, xe[-1, 1].
sinx, xe]O0, 3].
57 £0) 2x+3, xe[-2,0);
x =
' 2x-3, xe]0,2].




